2025 EF EHFHTHeELE)—4 2025.6.8
66
EEE =15 NO |BaISEE HEHE (2091=7) IE AR1_| AR2 [NO
4128 (X]HTLIBE 1 900 FR[ 0T 0 [<Fi& BB | %R EAFII
AE-TLwX| 2 10:10] =@ | 4 | 0 | &R <a“li RiE | R | 2
3 11:20] <F°1E| 0 | 0 | Fifg | &R [<F1X| T [ 3
4
5
6
48138 (B)7T2/ 1 9000 KB [ 0 | 2 |&=HwW]| 7 | KXEB| XHB| 4
ARER . KIR 2 9:50] A<ETB| 6 | 0 [i] KB | ZEHW| FHW| 5
3] 10:40]KF1F) (RIB) | (RED) | (F@) | (78)
4] 11:30)(EHW) HE I (REN|KF IR (KHB) | (R1B)
5/ 12220 () | KT IRIEEFEW)|(RBTY)[(ZHETY)
6 13:10|(AHTY) (RETB)| (78) |KF(E)| (KT ()
48198 ()4 TLIBE 1 1040 %R | o | 3 | EHR| KATY| =E Y 6
ARER: KIR 2 11:30] & 0 [ 12 | RETY | #%R | EHR|EHFR| 7
3 1220l X4 | 5| 2 | &R B | KETY | RETY [ 8
4 1310 EFR| 6 | 0 [i] KB [ BR[| ER | 9
5 14:00] AETY| 9 | o | X4 | EBR| & 7 10
6 14:50] 78 1 0 B | RETY | KiE | KiR | 11
48208 (B)TY/ 1 9:00| AETB| 3 | 0 | K | EFHR|EZEFHFW|EFHFW| 12
ARER: KIR 2 9:50] RETY| 2 | 0 | EHR| XHEB| KB | K | 13
3] 10:40] KB | 2 | 2 7 | AETY | EHR| ZFHR| 14
4 11:30] F=EFW| 1 2 | RETB| X4B [ii] 7 15
5 12:20] 78 0| 6 [ AHEY|ZEHW| AHB| KEB| 16
6 13:10) ZEHR| 2 [ 0 | ZEHW] & [ RETY | KHETY | 17
4H26H ()4 TLIBE 1 9:50 zlsHTB 3| 2 | &BE | HE i} 7 | 18
AE-JLyX| 2] 1040 1| 4 | i | AEB| 85 | 8% | 19
3] 11:30 E%% 0| 3 |KFx| & BE | ®E [ 2
4] 12200 HifE | 2 [ 0 | AETB| EE | <FF [T ]| 21
Ag-mAE | 5] 1310]lmAa | 3 | 1 | %R | &E | ABB| XEB]| 22
6 14:00] ZFFW| 3 [ 1 7 |EAR| R | R | 23
7 14501 <F1E| 3 | 4 |@mAE| R | FHW| & | 24
| 8] 1540] BUR | 1 | 1 |FHW| < | AR FMNE] 25
48278 (B)7T5/ 1 9:00] Ef [ 3 [ O | =BHW | EmAE | mAk| 26
AER:-TLwX| 2 9:50| EAYE| 1 1 %Eyw BE| E B’ 27
3 1040 = 0 | 4 | 3R |ENE[|EHW %Erw 28
4] 1130l =HW| 0| o | EiE D Y AR | 29
RER - #2& 5] 12220 7 1] 4 | 8% | EHW| Fis | Hifg | 30
6 1310 ZBR| 2 | 1 |EAER| & e | £84 | 31
7 14:00] #R | 0 [ 2 | EHR|EAE|EARE| 32
| 8| 1450] #8% | 0 | 4 | ®HR| #R | #R | 78 | 33
48298 (X ) TLZBE 1 9:00] K48 | 0 | 7 | =HR| <J (% | AHB | AEB| 34
AER: KR 2 9:50] AXBTB| 0 [ 1 | <F(F]| X | EHER| ZEHR| 35
3 10:40| &EFR| 9 0 B | AREB | <FIE | <F1E| 36
4 1130 <Fx| o | 1 | KB | BEHR| = B | 37
AE:-TLvX| 5 1220 #8% | 0 | 1 | & |<F1E| KB | KB | 38
6 13:10|mAE| 0 | 2 | AEB| 8% | HE | HE | 39
7 14:00] = 3| 4 | #%5 |mHE| ABB | ABB| 40
8 1450 Fifg | 1 | 0 |mAE| F | BE | B85 | 41
5858 (B) |"4TLIB@E 1 9:00] ABTY| 5 | 0 | ;%R 7 |mAR|mAR] 42
AER:-TLwX| 2 50| mME| 3 [ 0 [i] ZFIHTY AR | #RR | 43
3 1040 i | 0 [ 5 | RETY| %R L] L] 44
4 11:30] #R | 0 | 4 | AETB| HiE | AATY | KRHETY | 45
5 12.20(mAYE)] TRM | GEi®)
6] 13:10J(AHTB) TRM (7
5868 (X) |72 TLIBE 1 9:00(EFW) (RETY)| (B25) | (B8 (A )
ARER gk 2 9:50( M ) (#84) |(EEHW)| (KRHETY)|(KRHETY)
3| 10:40|(AHEIB) XL (EHR[(ENAE] (BBE) | (%)
4 11:30)(AHTY) AN E]REB|(EFR|(EEHW)
5 12:20] (B8%) | (EHFWNRETV(ENAEIEH )
58108 ()4 TLIB@E 1 9:.00] B8&) [XFL |CGER| G [EH)| CGER
AER:#EH 2 9:50 |




3| 10:40
4] 11:30
5/ 12:20 _
58178 ()4 TLZBE 1 9:00] () KT IDIEHR) (FiE) [(EEFR)
AE-ITLwX| 2 9:50|(EER) G| () | (@) |KFID
3 10:40|(<F°1) (RETY)|(EHR)|(EHR)| GRiE)
4 11:30)(Z=EFW) HEh L (R) | (F8&) |(RETY)|(AETY)
LR & 5/  12:20|(AKETY)| (#2%) |(EHW)]| GR) | (R)
6] 13:10|(AETB) (EBR|(RATY)| (&) | #EH)
7 14:00] (E2%5) (EHWACKEB)|(FEHR|(FEHR)
_ 8]  14:50] (F) (RETB)| (#5%) [(FEHW)IEEHFW)
58248 ()b HHLAEBEH 1 9:30] <F x| o | 1 [=BHBW|AKEB| =] | AHB| 46
LR & 2| 10220l AETB| 4 [ O B | 85 [ EHW[TIE| 47
3] 110l EHwW| 1 | o | B B il B |48
4 12:00] 7 1 2 | KFIE | JFHW| BE | FHW| 49
5 12:50] (#8%)| TRM [(KHETB)
_ 6] 1340 (&) TRM (7)
58258 (B )kE LIS 1 9:30| (B84&) [ RXHIE | (KB | GEis) | &%) | (R1B)
ANER - EEZ 2 10:20
3] 11:10
4] 12:00
58318 ()4 TLIBE 1 9:50] () (RIR) |EHR)|(EFHR)| GEil\)
AE-JLyX | 2| 10:40] GEE) (EFR| &FE) | (K1B) | (R1R)
3] 11:30|(A&HTY) HReIE (EHFW EB) [EFR|(EHR)
4] 12:20] (K4B) [ ™ CGEiE) |CRETY)|(RETY)|(EEHW)
5|  13:10|(ZEEHW) ) | KB | GBils) | GBis)
6] 14:00(FIA ) (KBTI EEW|(EEHW)| (&)
6818 (H) |74/ 1 11:50|@AME| 5] 0 £l f2& | BRIR | #8% | 50
AR 2 2 12:40] #R | 1 3 | &% |@mAre| & [ mETY| 51
3 13:30] AETY| 6 | 0 | AETB| %R | #8% | 8% | 52
4] 1420 = 1| 0 | <FI&| ABTB| ABETY | AHETY [ 53
5 15:10] #8% | 0 | 1 |@AE| T |<IF1E|<I1E]| 54
6] 16000 <9(L| 1 | 5 | AHIY| #8%& AR [FEMNE) 55
6878 (L) | TLZAE 1 13:50) ZEW| 6 | 0 B | RETY | KETY | #8% | 56
13:00~17:0Q A&} : #85 2 1440 #8%& | 0 | 9 | AHETY| =B |ZEHW| = | 57
3| 1530 (B2&) [ TRM ()
4
ZTLIBMA 1 13:50| ABTB| 0 | 4 | ZEHR| H=iE | AEB| ZEHR| 58
AE:-TLyX| 2 A3 —13)L(40%))
3| 1520 |FER| 0 | 1 | FiE | AETB | ZEHR| FiE | 59
4
6H8H (B) |A&HT/ 1 1230] KB | 3 | 1 |@ArE| &g | XiE |FErE] 60
12:30~17:0q A &R : A<HT 2 A2 37—\ )L(40%5)
3 1400l Fis | o[ o | X4 |mAE| Fis | K4B [ 61
4
68148 (1|5 TLCAE 1| 13:50] A&HTY | Z25W | mrE| ArTY | ZEHW| 62
13:00~17:0q A &R : A<HT 2 A3 —7\)L(4053)
3 15:20| EA AETY | ZEHW |RaAE| AETY | 63
BEAEH4E 4
68228 (B )ERIL/NER 1 9:30] KB A |G| EHR| EHR| 64
AE-LFIEE| 2|  10:20] EER {FIE ]| KiE | #8855 [ K48 | 65
3 11:10] = KB | EHR| KT (X [ KT (X | 66
4] 12:00|(ZEFHR| TRM | (#E%)
5 12:50] (&) TRM  |KF1X)
EIESH3E 6 ]
68288 ()4 TLZAE 1 13:50] CKiR) | Flm | (BB&)
13:00~17:0q A&} - 2 14:40(ZFHR)| Fls |KI1L)
EESHUE 3] 1530 (&) Fia | (XiB)




